Your Turn:
2) Graphy = 2x? + 2x + 1
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a) Find the vertex and state ifitis a maximun@} ( 2, 2 )

b) Find the roots of the quadratic. no wi

Using the graphing method to solve real-world problems:

3. %) A toy rocket is fired upward from the ground. The path of the rocket is given by the equation
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h = —16t? + 128t, where h is height measured in feet and t is time measured in seconds after the
rocket was launched. Find the following:
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a) What is the maximum height that the rocket will reach?
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c) How long is the rocket in the air? >
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d) What is a reasonable domain and range for this quadratic model?
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A ball is thrown into the air. The path of the ball is represented by the following quadratic model,
h = —t? + 8t, where h is the height in feet and t is the time in seconds. Find the following:
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a) What is the maximum height of the ball? . / A ]Cee /é
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b) When will the ball reach its maximum height? ‘ (& b oad f € (v ‘\Q(J
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c) How long is the ball in the air? - o
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d) What is a reasonable domain and range for this model?
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5. Aballis shot from a canon into the air. The equation that gives the height h of the ball at any time ¢
is h = —16t2 + 40t + 1.5, where h is the height in feet and t is the time in seconds.
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a) How long is the ball in the air?
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b) What is the maximum height that the ball will reach? (‘- 25 26.§ J
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c) How long will it take for the ball to reach the maximum height?
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d) What is a reasonable domain and range for this quadratic model?
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e) Sketch a graph to represent this quadratic model.
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